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Cytosine forms pair with ‘ ¢ e QWAL 1
“ Sulphur A (D) Thymine 2J@(C) Guanine £ (B)  Adenine L1t (A)

Natural selection , book of Darwin was published in v dnle UL Vot 2
' 1870 (D) 1859 (C) 1828 (B) 1810 (A)

Example of carnivore plant is ' 4.;,)&(.{4..:{4»81&’ -3
Fungi JE’ (D) Algae (,{l (C) Pitcher plant &l&,& (B) Mosses »* (A)

Non renewable resources are : ‘ QJL,*,&}G% -4
Air # (D) Fossil Fuels AJ (C) water i (B) Soll " (A)

Interferons protelns are used as gﬁélﬂfdb‘*&#ﬂ:{ﬁ,}ﬁ | -5
At drugs 589 (D) Anti fungi JPLIF (C) Anti viruses »7i & (B) Antl bacteria | 2638 (A)

" Psllosin belongs to _ : : q:.d""w{v -6
Antibiotics u";ﬂ@l (D) Sedatives J&i~ (C) - Vaccines ;!‘g (B) Hallucinogens )-’r‘.’id:.‘:l (A)

Asthma is actually ‘ PO - TR
' | Hepa™ ds u-‘"’ec'g (D) cancer A (C) /Allergy 3/ (B) Tuberculosis dig” (A)

Colour of human kidney Is 4_.-,5‘!‘;”/&(5: -8
Darkred {45/ (D) Blue (£ (C) . Yellow f§ (B) Pink Jif (A)

incus bone belongs to + VA
Mouth (D) Eye #T(C) Nose JS(B) Ear u¥ (A)

Type of cartllage tissue Is ’ ‘ q:..f J}’éjb’ -10
' Smooth & (D) Cardiac {4 (C) Connecilve 2 (B) Muscle J(A)

Budding is found In | Okdpts 11
Amoeba I (D) Plannaria | 2% (C) Bacterla L25%(B) Yeast ut(A)

Name of unit of androeclum is | | 4;_"#5"35’!&'(-’»12! -12
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Describe osmotic adaptations in hydrophytes and halophytes
' 5 .£.~,->L‘-,Ju/£cﬁ*p Ly s +g’y¥‘; (B)

What is skeleton ? Explain different parts of human skeleton ?

4 oGt loar Lo | (A) - 50

Explain peripheral nervous system In human 242 é‘wl&:JH/ ub)d}‘.,&u-"-’ub"l (A)
A 1+4 gvb‘a{ff"” ﬂ:{daﬂdf)ul;.u(fﬂ/w (B)

_.s/ﬁllr

Explain female reproductive system of rabbit with the help of diagram

Describe two types of carbohydrate fermentation 4 éukruw(fu’ﬁ?u‘dﬂz/b’ A) 74w
Describe narcotics in detail 5 zﬁ.’uya.‘}:.‘”fw% (B)
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Q. No.2 Write short answers of any Five of the following 5x2=10 -é ;]’@L&/‘yﬁd.‘zﬁ é], e St 2/3.1!»'
Write symptoms of bronchitis 5{/’@%&/5’314 i
What is lungs cancer ? A éup/! K| i
How smooking affects circulatory system ? | ¢ 4.&;1}!&(,;#’ d}:!!}b’_ﬁ’f il
Differentiate between Hydrophytes and Xerophytes ﬁuy&)utu:f B;{J;;lu’g Bas % bl v
, . ¢t iz s L un il bl | v

Which components of blood cannot be filtered through kidneys and why ? v
Differentiate between somatic and autonomic nervous system z{(]ﬁ/\)ﬁ/d J:/'...GJ‘DA("" Uiy | vi
Write reaction of pupil in dim and bright lights e"d‘!;f..tm;a’ugmd-‘, vii
Wirite differences between exocrine and endocrine glands - ﬁuyd,u}aﬂ-fbﬁzw‘flfrﬁ vill
Q. No. 3 Write short answers of any Five of the following 5x2=10 2Z& A=z 121 égc_u:‘,b(w 340
Define hinge joint and write two examples #Uuél‘#:u,lé...yﬂ&lyg i
What Is the difference botween floxor and extensor ? )T /"“wl /9' ii
What is meant by multiple fission ? ¢ .;.Jykfc.u’&(f' iii
Write the names of four organisms reproduced by budding z;!?tﬁuﬂulpk".bLfJﬂ:{dzc.J X v
Define trait and give an example zé,dm,:gi_gji{ (trait) &cf] v
What is nucleotide ? Write the names of its three components ’4!?"&&"2’@&1&' ¢ 4..&_0,.?&‘}.\2 vi
What is meant by alleles ? ¢ q..:l/g(c_:"'l vii
What is a homozygous genotype ? ¢ 4_8;\'{..;;&}3;}‘:@;« vili

Q.No.4 Write short answers of any Five of thefollowing 5 x 2= 102 fulie P il st 40
Define species . B iqﬂ[jm i
What is meant by producers ? ¢ e ilplle iy il
Define parasitism : g{._yﬂ!r;u; g iii
Whét Is meant by predation ? t q-:V&Q.J@{ v
What are transgenic organisms ? ? u_thySw.ouﬁff) \4

.1 Write a short note on Lactic acid fermentation é;/’&)bﬁ{u’-‘qjdluﬁp vi
Differentiate between drug and pharmaceutical drug E’,E (: l:JMlmf‘;rbﬁaﬂn vil
What is the difference between antiseptics and disinfectants ? ¢ q_J)&ru-‘-ﬂJ’ulﬂ@l vill

. (PART 11 ) o9 dan
NOTE : Attempt.any two questions from this part 9x2=18 é{]’ew&(}'@mmcéfc_dmw HY
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In DNA , cytosine nucleotide forms pair with ¢ gt Al o hedeet It - ot 85 1
| Uracil J?Ug (D) Thymine ¢#0@ (C) Guanine £ (B) Adenine <Ll (A)

The genotype of blood group " O " is | e Ftf "o ..,,,/&"‘& 22
| B (D) i@© M@ 1M A

Goat eats grass , what is its trophic level ? [ PR AEN ) ..q_&u’mfd)f -3

Decomposer u)&s (C) Secondary consumer /iquuf (B) Primary consumer /Wﬂ{ (A)
Producer s/ (D)
The long term effect of noise pollution is : zi_/l,kaJ)KJ SIS _a
Loss of hearing JH’JP (C) Aggression db’-‘ﬁl (B) Annoyance J)u. (A)
Respiratory disease u‘/d/ 4~ (D)
Very effective hormone for brain and lungs cancer is 4._@:'1[,11&1.;!:49/!{%4.& /-'.“Zu:y,ﬁal&h <5
Urokinase ##u¢ (D) Interferon 52 #1 /(C) Beta-endorphin uiﬁz;ll}; (B) Thymosin »1# (A)
The drugs used to reduce pain are called u?&llf..;t»ﬂbl./ﬂa -6
Sedatives J&i- (D) Antibiotics u"frw’ ! (C) Antiseptics u’k@l (B) Analgesics ‘f‘;!dtl {A)
Right lung consists of how many lobes ? £ 4.?:1&”2 (29) U et -7
' Five §4 (D)  Four Jp (). Three £ (B)  Two » (A)
The organ reéponslble for filtering blood is 4;_4.«'/:‘50»3(2../}'@@} -8
Kidney =/ (D) Rectum (% (C) Stomach we (B).  Intestine 6% (A)
q_t‘llz( . q..rlg/L.m.—_.d!{.J‘fu)ﬁ;}xylnbzb’uwz )
The projection of neuron that carries nerve impulse away from cell body is
Myelin Sheath i.‘.’cJ‘t (D) Node of Ranvier {:Q[JJTH (C) Axon cjl}r 1(B) Dendrites ‘f“"l/ﬁz.f (A)
W AL s L LA P s 10
The fluid filled space in which chondrocytes are present is called
Hyaline uf’-ﬂ (D) Lacuna I:zg (C) Collagen ng-\,f (B) Matrix J(}{ {A)
The outer most whorl of flower is called q:_t’Uﬁ,.f&:;c.q&Ud -11
Gynoecium f“"’&f (D) Androecium (-’uiz;i (C) Corolla U.v( (B) Calyx JQ’ (A)
Asexual reproduction in Rhizopus occurs by ,gu,'«;q_axcf‘gwafrﬁ_'J;ﬁuJb <12

Endospores Lsoil (D) Spores s (C) Budding «£% (B) Binary fission A »
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Q.No.2 Write short answers of any Five of the following 5x2=10 . 2£ ,Aaiiz/ L izl é& eldien 240y

What is the difference between glottis and epiglottis ? * IR | o
Write down symptoms of Asthama : ‘{ {/’_.,w,&,, ii

What Is passive smoking and how is it harmful ? ¢ .;_.,uuﬁz,)v;m f 4.:1/&&:.-5’:6:# ‘il
Explain selective reabsorption in nephron | gwu;dz-ﬂﬂ;dddf‘bt‘-), x| iv
Write issues (problems) after kidney transplant ' _é{]{ﬁ/ﬂl&ddd:& H}dff v
How does co-ordination occur in unicellular organisms ? ¢ q_éxéu’f‘jb‘b‘atuuug)kdg vi
What is meant by Hippocampus ? $ 4_,yg'.=,u,<’g vit
What are meninges ? Write their function . EUBIL U t B2 g | il

Q. No. 3 Write short answers of any Five of the following 5x2=10 2y fain AL it @"—U’d’@ﬂ 340
Define cartilage 2w db’ i
What is a tendon ? Write its function : &dffdl t & (Tendon) wX*| ii
Differentiate between sexual and asexual reproduction éJM‘-ﬁ%u‘j",_b;uﬁ ii
Write the method of budding in yeast Z‘I‘&)VJ A lueg] v
How nucleosomes are formed 7 * R LA | v
Write names of four nucleotides e‘}e&me{g;‘. vi
What is meant by transcription ? ¢ t 4.:'/&&:_@41“} vil
Differentiate between dominant and recessive alleles ? o OJUE Mdumtaaidsd | vili

Q. No.4 Write short answers of any Five of thefollowing 5x 2= 10 ggfaym/‘yédméka.—gﬁgt}ba 4/,7dlr
Define consumers and write its any two types ' %Ub:u‘éfgfdbﬂé_yﬂ{;df i

Write any two major sources of carbon in the living world 7 g“dw«.z»éws’é.&gwg il
Define biologlcal nitrogen fixatlon ﬁ.—é{ﬂfu’" w*:/‘"tg}lﬁi.ﬂ til
Define mutualism and give an example éﬂwalﬂbgﬂfp’!z' iv

Write the names of two major techniques used In biotechnology égd‘f/t(»dbl_ndbvﬂgﬁ(s_db?fy v
Write the procedure of continuous fermentation . é.‘!gb’.‘u,,)fw’-‘}}y vi
Define pharmaceutical durg and addictive drug é_gj{ﬁmf;b,lwf‘xm vii
In which infections tetracyclins are used ? ¢ ug(}ndl-%'!u.‘. j’ﬂgf jt"w 2 | viii

(PART Il ) pgd A

NOTE : Attempt any two questions from this part 9x2=18 # fuinl Setme (e fot 1)

Describe the structure of kidney 4 z!yg.;éw[u/ (A) - 5/.)dlr

What is meant by Joints ? Give their types 5 ol ¢ e Slr

)

Explain the pituitary gland with its hormones and their functions 4 éyu:gfrféubﬂfﬁkﬁﬂd}‘&
2+3 é@k’u(fﬂ{&ﬁ,{a—ud}ﬂﬂu’ﬁ

With the help of labelied diagram explain the process of spermatogensis

A <8
(B)

Write detail of types of fermentation 4 g‘{};“"frw‘f my

eifios
Write a note on drug addiction and associated problems & é @){JVW/A@)&J@P‘

A 7
(B)
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